F—

Write your name here

4 {

—

(" Surname O—C/ [ Other names
r A
M ) s Wers

Pearson Edexcel
International GCSE

‘Chemistry

Centre Number Candidate Number

i
|

!

-

Unit: 4CHO
Paper: 2CR

E

LI

| |
|

-

\

J’ime: 1 hour | ‘I-CHOIZCI:L,E
ﬁou must have: ] E?otal Marks

§ Ruler, calculator

— -

Wednesday 14 June 2017 — Morning Paper Reference

N——

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer all questions.

Answer the questions in the spaces provided
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Read each question carefully before you start to answer it.
Write your answers neatly and in good English.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.

1 The diagram represents an atom of an element.

(@) (i) What is the particle labelled X?

an electron
anion

a proton

O®R O O
C N W >

a neutron

(ii) What is the mass number of this atom?

OW O O
C N W >
O

(iii) Name the element that contains these atoms.

“ 0 O



(b) Hydrogen has three isotopes.

State, in terms of subatomic particles, one way in which these isotopes are the
same and one way in which they are different.

/ ‘P/ /

same ... WAL = L PRV

4

different .. JAavap Cigr  Ch AR THE L oo

(Total for Question 1 = 5 marks)

RO 00

5

Turn over



2 A small piece of magnesium ribbon is added to dilute sulfuric acid in a test tube.

Hydrogen gas is produced.

(a) State two observations that are seen during the reaction.

225

(b) The reaction is exothermic.

State what happens to the temperature of the acid during the reaction.

| 295

I P
SNE A A, ol ot A

(c) Write a word equation for the reaction.

: : 121
- J‘a/u!’-("( marg ne Liten
i”e.fwic}{;@/_*f«/”‘ﬂjféagen

(Total for Question 2 = 4 marks)
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3 This apparatus can be used to prepare carbon dioxide from reagents A and B.

o S —

C AW S Ca L

water

)

(a) Calcium chloride and water are also products of the reaction between A and B.

trough

Identify reagent A and reagent B.

A A/aa{o‘tncawﬂ/ ;; ‘2%5

o+

B AT wermn (O b0radl

(b) In the diagram, the carbon dioxide is collected over water.

State another way of collecting the carbon dioxide.

)/‘—‘-. P —~ "
v

(c) Atthe end of the experiment, the solution in the trough is weakly acidic.

(i) State the colour of the solution when some Universal Indicator is added.

P, L0l

(i) Give the name and the formula of the acid that forms when carbon dioxide
dissolves in water.

name ... )OOt W’a{

formula ... /%QCO} &

(Total for Question 3 = 6 marks)
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4 Crude oil is a complex mixture containing many compounds and is a source of many chemicals.
(@) Most of the compounds in crude oil contain two elements.

Name these two elerrlgpgs. 30 f

506

(b) Crude oil is separated into fractions in order to produce useful chemicals.

e @NA e A T O e

(i) State what is meant by the term fraction.

! - e - ‘; g
W%M&%;‘N%f’ézr’&f”hn*'J‘J’L'Mﬁ'

R 00



I} red . oo
(c) The box shows four fractions obtained from crude oil. p “) “:g B s’{}p
< $ 3 e T B
."/ ) /" WS 6’ VL@

/
bitumen diesel fuel oil gasoline | ! “} LPies /’f
' “> ,g ﬁ‘ﬂ ?{" 3’»"’:1”{
\ 3 ? H.{L/*“-(ﬂt /

(i) Which of these fractions contains compounds with the highest boiling points?

BC ltnén,...

(ii) Which of these fractions is the mggg\pjgllle? M; - ffg/;ﬂ‘p a:-gﬂ\é,
) .-/ ty F'Oq
v

[‘ Z . Mus Carcte
o B e X A

(d) Fuel oil can be burned to heat homes.

.09

If combustion is incomplete, a dangerous gas is produced.

(i) Name this gas.

4

& -
x § F o \
;awﬁ»’w,}ﬂnwi"é 510

(ii) State why this gas is dangerous.

|~ Tzf QM:,% /:/::' !/mﬁ‘ {;cf?mjrwj 10

mfj?“@ﬂﬂkﬁ“u-/V” 7

(Total for Question 4 = 9 marks)
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i For pont (45/
5 Ammonia is a toxic gas that is very soluble in water.

—

A teacher uses this apparatus to investigate the solubility of ammonia in water at
different temperatures.

ammonia ——

funnel

water

balance
P

This is the teacher’s method.

e pour 100 cm’ of water into the beaker and measure the temperature of the water

e place the beaker on the balance and record the mass of the beaker and water

* bubble ammonia into the water until the mass is constant
e record the constant mass /

o

The teacher repeats the experiment with the water at diffgre"ﬁi temperatures. Mo ”f

4 4 [ {
The table shows the teacher’s results. P Wl + &€ adéé-

B + i:"—?""“-‘*.'c:'a'-n:ﬁ'
Temperature Mass at start Mass at end
of water in °C ing ing
15 145.0 2045
20 145.0 198.1
25 145.0 191.6
30 145.0 185.1

" 00000



(@) (i) Calculate the mass of ammonia dissolved in 100 cm?3 of water at 25 °C.

| 91-6 = 1456

‘,:‘.,.. 4\ . J‘:»»)

mass of ammonia= .5 . =

(ii) State the relationship between temperature and solubility of ammonia.

/ . /

> r p iy e, - A
By g T, s yo # - é

(b) Explain one safety precaution that the teacher should take when doing this experiment.

2 CAUTE.. ot LT Fercic

(c) When the teacher does the experiment at a higher temperature, the reading on
the balance gradually increases but then slowly decreases.

Suggest why the reading on the balance slowly decreases.

mjwé’vq?cvafféf

(d) Ammoniais an_q_ll(_a_lfn_e;g%s.

m—
I

Suggest a different method that the teacher could use to compare the mass of
ammonia dissolved in the water at different temperatures.

(Total for Question 5 = 6 marks)
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6 Ethanol can be made by two different methods.
method 1 fermentation of glucose

method 2 reaction of ethene with steam

(@) Name the catalyst used in each method.

method 1 ... LY ere ([ geest ) ... 350

i

(b) Two companies produce ethanol for different purposes.

The table gives some information about each company.

Company A Company B
Location of company large agricultural area near an oil refinery

to obtain a dilute solution
Use of ethanol . . as a solvent for perfumes
to convert into vinegar

Explain which method of production each company is more likely to use.

_— _f x ~ 2
Company A %/LWI”’«-’Z‘/""»{*W” .o L7

FV2E £G4

ﬁZGcr&fJ | ﬁ,{/ﬁv/ A Preac.

7~

B ]

; o)

H.// / / - / 4 4
i L ' o - .
L lbaned....cleed...noT... . nced.. pe.. puse

Company B

v

A>¢ o

,-'!
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() Most of the ethene used to make polymers is produced by the cracking of crude
oil fractions.

() One of the polymers made from ethene is poly(ethene).

Complete the equation to show the formation of poly(ethene) from ethene.

/_’ ]_,)7 ¢‘:’l/'£ 7

H H { / -
N 16
Lc- ¢ + o

n = = — ]
f
H H ,ii / 'f \"
v u In

(ii) The kerosene fraction obtained from crude oil contains a hydrocarbon with
the formulaC, H_,
Complete the equation to show the formation of ethene and one molecule of
another hydrocarbon from the cracking of C _H.,

{ 5‘. ‘qu

P J
CH,—2CH + _ Set2 {128

16 34

L=

(iii) Suggest why it may be necessary, in future, to make ethene from ethanol.

/'_ / ' ;,/ 4
L O AT Qe WA UNCL. Mt

(Total for Question 6 = 10 marks)
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7 A student uses this apparatus to investigate the change in temperature when dilute
hydrochloric acid is added to aqueous sodium hydroxide.

'S

/ polystyrene cup

This is the student’s method.

e pour some aqueous sodium hydroxide into the polystyrene cup
¢ record the temperature of the sodium hydroxide

e add some dilute hydrochloric acid and stir the mixture

e record the highest temperature of the mixture

The student repeats the experiment using different volumes of the two solutions.

(a) Explain why the student uses a polystyrene cup to contain the solution, rather
than a beaker.

#

.

(b) The diagram shows the thermometer readings for one experiment before and after
adding the acid.
ol 120 °C 25
y Q i
£ 23
3 22
1€ ‘ i,_ ; / /
15 20
before after
Record the temperatures before and after adding the acid.
before % "O«c

after =«

O 0 0T 00 B 0 o



(c) The table shows the results of a series of experiments.

The initial temperatures of the aqueous sodium hydroxide and the dilute
hydrochloric acid are the same.

Volume of aqueous Volume of dilute

Experiment sodium hydroxide hydrochloric acid nghes? Smpeaie
: 3 . % of mixture in °C
incm incm
1 10 20 222
2 20 80 242
L 30 70 26.0
4 70 30 240
5 80 20 23.0
6 90 10 220
(i) Plot the results from the table on the grid.
30
294
25 7
2F N
Highest temperature
of mixture in °C 261 \
N
N
25 4 / \ :
/ \\ ,_f;‘ l/ !J
24 / \’\ :
N
ot
23 // x\,
22 1 \\
2 1/ =
20 ! 1 ¥ I I ' I ’

1
0 ' 20 “° 40 ‘° 60 7° 8 79 100

Volume of aqueous sodium hydroxide in cm?

Draw a straight line of best fit for experiments 1, 2 and 3.
Draw a second straight line of best fit for experiments 4, 5 and 6.

Extend both lines so that they cross.

" 00 O



(i) The point where the two lines cross indicates when equal amounts, in moles,
of sodium hydroxide and hydrochloric acid react.

Use your graph to find the volumes that contain equal amounts of
sodium hydroxide and hydrochloric acid.

volume of sodium hydroxide 38 cm? 3};# .
57
100 - 3§ = volume of hydrochloricacid ... 4= ... cm?
(i) The equation for the reaction between sodium hydroxide and hydrochloric acid is

NaOH + HCl — Nadl + H,0

Explain which solution, the sodium hydroxide or the hydrochloric acid, has the
greater concentration.

VY |

CATFl G/ Clitarn

boll

f
B 5 /
\ B /
j -

{Total for Question 7 = 12 marks)
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8 A student does a titration to find the concentration of a solution of nitric acid.

This is the student’s ?f’t':fqd (/
0 pn 3
é’—’ AC ¢ G

e pipette 25:8€m’ of the nitric acid into a conical flask

e add a few drops of indicator

e add aqueous potassium hydroxide from a burette until the indicator just
changes colour

» determine the volume of alkali added from the burette
albal
The concentration of the potassium hydroxide solution is 0.0200 mol/dm?®. & é.

The volume of potassium hydroxide required to neutralise the acid |5M O-0235 sl

The equation for the reaction between nitric acid and potassium hydroxide is

(fr—- rsz-{-o' / /

HNO, + KOH — KNO, + H,O

n(hon)= < < v 127
e 02 % 42 B2y =

-

amount of KOH = OOOO&'?ﬂmol

(i) Calculate the concentration, in mol/dm?, of the nitric acid.

sedes 141 ., Jo /1//%/03): h{/k"ﬁ&f)

= 0(006‘41
-7
|- 2#
, n
c( f"’”‘%) =
0 goo47
- 0025

2. } >
concentration of nitric acid = .. L (C C\ &f}?’ ~mol/dm?

; DL 0 0 0 0RO



(b) The student makes a solution of potassium nitrate by neutralising aqueous
potassium hydroxide with dilute nitric acid.

Describe how he could use crystallisation to obtain a pure, dry sa le of m
potassium nitrate crystals from the solution of potassium nitrate,/ f/—’—..f L ide

z;zm /

(Total for Question 8 = 8 marks)

TOTAL FOR PAPER = 60 MARKS
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